Significant Digits and

Math.

If I haven’t told you already, physics is pretty much science based math.

There are two sets of rules when dealing with how many digits an answer can have in it.

1.) When ever you are just adding or subtracting you do not need to count the number of significant digits.  

You just need to use the number of decimal places that the measurement with the least amount of decimals.


Example:





21.0911 g H2O

· 1.01  g O2    

       20.0811 g H2O2




Answer in s. digits: 20.08


Since the “least accurate” measurement in the problem only has two decimal places, you have to round off the answer accordingly.

2.) When you multiply or divide (even if you also subtract) you need to count all of the significant digits that are in each measurement.

The answer, again, can only have the same number of significant digits that the “least accurate” measurement has.


Example:




100 Kg  




x   2 m/s




200 Kg   m/s 

In situations where you can’t come any where near the answer by rounding off you need to use scientific notation.

Answer in sig. Digits: 2 x 102 Kg  m/s

